FICHA 6 – ALUMNOS CON INGLÉS PENDIENTE 3 ESO

Vocabulary

1
Choose the correct answer.


1.
There were no judges / witnesses to the murder.


2.
Thieves broke into / identified our house last night while we were sleeping.


3.
The driver obeyed / broke the law when he drove through a red light.


4.
The jury committed the crime / found him guilty.


5.
The witness identified / caused damage the thief. She remembered what he was wearing.


6.
The burglar was sent to prison by the hooligan / judge.


7.
The criminal was given a warning / witness by the police.


8.
The police have found fingerprints at the scene of the crime / prison sentence.


9.
During the riot / trial, the lawyer showed some surprising evidence.


10.
The accused was very happy when he was found innocent / guilty of the crime.

2
Complete the text with the words below.

committed crimes ( damage was caused ( hooligans ( prison sentences ( riot

Yesterday, there was a 1.…………………… on Mercer Street. Hundreds of people were hurt. Serious 2.…………………… to shops in the area when a group of 3.…………………… broke windows and started fires. Ten teenagers were arrested. According to police, four of them have 4.…………………… in the past, so they could receive 5.…………………… .

Grammar

3
Complete the sentences with the verbs in brackets. Use the Present Simple Passive.


1.
Decisions …………………… (make) by judges.


2.
Evidence …………………… (collect) by the police.


3.
…………………… blood samples …………………… (examine) by forensic scientists?


4.
Questions …………………… (ask) by lawyers.


5.
Sentences …………………… (not pass) by juries.


6.
Information …………………… (give) by witnesses.
4
Write what happens when a crime is committed. Use the Present Simple Passive 
and the words below.

punish ( arrest ( bring ( investigate ( interview


1.
The crime …………………… by detectives.


2.
Witnesses and suspects …………………… .


3.
When the police have enough evidence, suspects …………………… .


4.
They …………………… to trial.


5.
If they are found guilty, they …………………… .

5
Use the words below and the Past Simple Passive to write questions about a robbery.


1.
evidence / find / at the scene of the crime


2.
weapons / use / in the robbery


3.
the evidence / see / by a detective


4.
any damage / cause / to the house


5.
what things / steal / from the house

6
Look at the picture and answer the questions in Exercise 5. Use the Past Simple Passive.
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Vocabulary

1
Match the words to the pictures.


1.
looking for clues


2.
get-away car


3.
having difficulty breathing


4.
trapped


5.
crash


6.
serious injuries


7.
run away
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2
Complete the dialogues with the words below.

in pain ( cuts ( dead ( unconscious ( escaped ( losing blood


1.
A:
Was anyone killed in the accident?



B:
Yes, three people are …………………… .


2.
A:
Were the burglars arrested?



B:
No, they …………………… before the police came.


3.
A:
How badly was Ben hurt?



B:
He’s broken his leg so he’s …………………… .


4.
A: Can I talk to my father now?



B:
No, he’s …………………… . Try later. He may be awake then.


5.
A:
Was she injured?



B:
Yes. She’s …………………… . We must get her to hospital.


6.
Detective:   Did the robber break the window?



Police officer:   Yes, look at those …………………… on his hand.

Grammar

3
Complete the sentences with the correct form of the verbs in brackets. 
Use the Present Simple Passive or Past Simple Passive.


1.
Suspects …………………… usually …………………… (interview) by police detectives.


2.
At the trial yesterday, the witnesses …………………… (asked) questions by the lawyers.


3.
Laws about drinking alcohol …………………… always …………………… (not obey).


4.
Luckily, they …………………… (not hurt) in the accident yesterday.


5.
The jewellery shop …………………… (rob) last night. More than 100 rings, earrings and necklaces …………………… (steal).

4
Complete the text with the verbs in brackets. Use the Present Simple Passive 
or Past Simple Passive.

Alcatraz Island 1.…………………… (locate) in the San Francisco Bay. This small island 2.…………………… often …………………… (call) “The Rock”. In the past, there was a prison on the island. From 1933 to 1963, more than 1,500 prisoners 3.…………………… (send) there. Alcatraz 4.…………………… (know) for its security. Thirty-six prisoners tried to escape and all of them 5.…………………… (caught). Six prisoners 6.…………………… (kill) while they were escaping. But in 1962, everything changed. Three prisoners escaped and they 7.…………………… …………………… (find). Their story 8.…………………… (tell) in the 1979 film Escape from Alcatraz. Alcatraz 9.…………………… (close) in 1963 and today it 10.…………………… (visit) by thousands  of tourists each year.

5
Rewrite the sentences. Use the Present Simple Passive or Past Simple Passive.


1.
The security guard caught the thief.



The thief 
 .


2.
They found enough evidence to arrest him.



Enough evidence 
 .


3.
Do judges or juries give prison sentences?



Are prison sentences 
 .


4.
They allow the prisoners to see their families once a week.



The prisoners 
 .
WRITING
Write a review of your favourite restaurant.
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